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Instructions for the candidates:

1. g¥zrell OMR B 9% Gv U+ Ho7 GRadl HHIE (10 3El &1) 3T97
fered |
Candidates must enter his/her Question Booklet Serial No. (10 Digits) in the
OMR Answer Sheet.

2. gerreff Ferayg sg Isql & & gV |/

Candidates are required to give answers in their own words as far as
practicable.

3. &Ile 3V EIRMF U¥ 179 §V & qUIH [AdT Hd &/
Figures in the right hand margin indicate full marks.

4. Fol B gIAgds g P [ GOl @ 15 5 @7 SaiaT aqT [ear
T &/
15 minutes of extra time have been allotted for the candidates to read the

questions carefully.

5. g 7o gasr &l gusl 4 [@971od & — &vs—3 IV @ve—g/
This Question booklet is divided into two sections-Section-A and Section-B.

6. TGS—3 7 100 TvGITSG F97 & [o77H & HIT 50 HII BT & TV & 7qre
8/ afT 50 7o W ifeF @1 GV &F GV FUT 50 T BT & FodIHT ENIT/
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TRIF F97 @ o717 1 3% [FE7oa &1 §7H7T Wal SV &l YT BT 73 TV
TFE d 1e3 T & [dFoq & Aot S Biet il 9T & TAIE B/ [V ) gEIe

P FIFTHY /T UGT /&S, TG 371a BT HIIT BT 77 &, STl GIET
gRuITT 3ET=T 81T/

In section A there are 100 objective type questions out of which only 50
questions are to be answered. If more than 50 questions are answered, then

only first 50 questions will be evaluated. Each question carries one mark. For
answering these darken the circle with blue/black ball pen against the correct
option on the OMR Answer Sheet provided to you. Do not use
whitener/liquid/blade nail etc. on OMR Answer sheet /otherwise the result will
be treated invalid.

. @e—§ H 30 TG FINT F97 &/ forTH W gAF 7 2 3F [T & forrH i
foedl 4t 15 Fo1 &7 GV G AT &/ §7P SARFT 5 @US H 8 FIe
ST F97 1o T & for7H H 18] 4 79 T STV & 8/ AP HIT P
foro 5 g1 fFErRa &/

In section B, there are 30 sheet answer type questions, each carrying 2 marks,

out of which any 15 questions are to be answered. Apart from this, there are 8
long answer type questions, each carrying 5 marks, out of which any 4
questions are to be answered.

. [V GHIY P FATgliE FUBYT BT FIIT qUaar arid &/

Use of any electronic appliances is strictly prohibited.
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gus — 3/ SECTION-A
IS W / Objective Type Questions

To7 Ge&qT 1 & 100 T% & T & @ GV [Q%ey 189 79 & [o77H & v wel
g/ 18 50 ye1l & Gww 37U+ I g7 TV W& [awey & OMR e v
fafeaa &9/ 50 x1 =50

Questions nos. 1 to 100 have four options, out of which only one is correct.
Answer any 50 questions. You have to mark your selected option on the OMR-

Sheet. 50x1 =50

1. T W 3T BT 3P Bl

(A) GIRl (B) SUBEE!
(®) BE (D) Ll
Excess of income over expenses is
(A) Loss (B) Surplus
(©) Cash (D) Capital

2. fFrfafed % & &9 wiftq va yerae @rd a1 faeyar 27
(A) IUTSIA TR (B) The AR
(©) Sfie MR (D) EQISTACIBIN

Which of the following is a feature of Receipt and Payment A/C?

(A) Accrual basis (B) Cash basis

(©) Debit basis (D) Credit basis
3. R BT T G BT ©

(A)  ammH e (B)  Iofrma e

© o (D) ==

A Legacy received by an organisation is a:

(A) Revenue receipt (B) Capital receipt
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(©) Income (D) Expense
.91 & 3fd H W @ 99 8¢ AFE & Jod ®I fUes # fhw wu H @

ST ® 7
(A)  m (B) =
(C)  wufy (D) =R

The price of balance of sports equipments at the end of the year is shown in

the balance sheet as

(A) Income (B) Expense
© Asset (D) Liability
. Fr=aforRaa # 9 fhdeT sm—=ag @ H 781 fa@rn S 82
(A) ER| (B) eIy Sgeg & fory T
(€ (D) =«

Which of the following is not shown in the Income and Expenditure A/C

(A) Depreciation (B) Donation for specific purpose
(©) Salaries (D) Subscription
. a9 & T OIS q9 BT SLIRT ST
(A) M H (B) <R |
©) Hufr (D) g ¥

The donation received for building will be shown as:

(A) Income (B) Liability
(©) Assets (D) Expense
. JTSIa HERIAT Yot DI TATIT ST
(A) JMTH Ut &1 avE (B) USIRTa Uit &1 )8
(©) RO DI TRE (D) SR & TRE

Life Membership fee will be shown as:

Page 4 of 36



(A) Revenue Receipt (B) Capital Receipt

(©) Loan (D) Liability
8. /1 H ¥ &M Ush 3R IR—AMBNI WRAT & oY g9 WUy &
(A) GCE| (B) Uce
(®) ERIEK (D)  @e
Which of the following is an intangible asset for an Not- for profit
organisation?
(A) Building (B) Patents
(©) Furniture (D) Cash
9. faffarT W U 3y @
(A) SIp) (B) NEIS]
©) ER (D) STH | DIg T8l
Income received from an investment is a/an:
(A) Income (B) Asset
(©) Expense (D) None of these
10. 95T 1Y B ST 7T &
(A) g PIY (B) A DY
(©) AMHRAD BIY (D)  =®u &N

The capital fund is also known as:

(A) Reserve Fund (B) General Fund

(©) Contingency Fund (D) Loan Fund
11.97e] 9 & SR UT< 1R o< &

(A) (B)  wufa

(©) TR (D) SWRIH T4

Subscriptions received in advance during the current year is:
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(A) Income (B) Asset

(©) Liability (D) All of the above
12.fF=fRad § & DI TA™MHRI e Aal &7

(A) faemer (B) YT

(®) FeId (D) ATEERT BH

Which of the following is not a not-for profit organisation?

(A) School (B) Hospital

(©) Club (D) Partnership Firm
13,9 5 HH @ oIy ofud SR TR &l @

(A) UTRE @ (B) SAM—BI @rdr

(®) M~ FTaT (D) JIRTA gl

Not for profit organisation prepare:

(A) Trading A/C (B) Profit and Loss A/C
(©) Income and Expenditure A/C (D) Revenue A/C
14.9T3IeR §RT B4 1 QU MY =0T R &F1S fHefdn &:
(A) 6% (B) 4%
(©) 8% (D) 10%
Partner who have advanced loan to the firm receive interest:
(A) 6% (B) 4%
© 8% (D) 10%
15.37¢] @1 ©
(A) EIGRRIRCIN (B) SIS IEERCIR]
(O) A @1l (D) T4 9§ PIg T8I

Current Account is:

(A) Personal A/C (B) Real A/C
(©) Nominal A/C (D) None of these
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16.9T8GR & Uofl @I & URMIS AY BT Hise fHar Srar 2 |
(A) Uil W) e (B) JMERV] W TS
(® STERT (D) B o fewn

The opening balance of Partner’s Capital A/C is credited with :

(A) Interest on Capital (B) Interest on Drawings
(©) Drawings (D) Share in Loss

17.98IER & 3ERY R 15 & forv Sfde fhar o &
(A) ARl & Yol @ (B) AM— BT @ I
(®) JATERVT ET Pl (D) STH ¥ DIg T8I

The interest on partner drawing is debited to:

(A) Partner’s Capital A/C (B) Profit and Loss A/C

(©) Drawing A/C (D) None of these
18.Fr=forad § & 9 gRad==iiet Joil # ST SIrdm &7

(A) Ik (B) iG]

(@ IREaRsll (D) SRIad T

Which of the following is added to the fluctuating capital?

(A) Profit (B) Loss
(©) Drawings (D) All of the above
19.m—8TH PRI @rar 99/ ™m ST @
(A) = HY g & forg (B) gg o™ Fdpreq & forg
(C) favrsw o fRdre™ & forg (D) T ¥ BT &

Profit and Loss Appropriation A/C is prepared to:

(A) Create Reserve Fund (B) Find out Net Profit
(©) Find out Divisible Profit (D) None of these
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20.9T8ERI & gRT ®H &I U 7T 1 R <19 @
(A) [CIRRISE] (B) o
(® TR (D) iG]

Interest on advance given to the firm by partner is:

(A) An Appropriation (B) A Gain

(©) A Charge (D) None of these
21.918IGR BT AT WIAT 91T ST & Sid AIeiaR & Yol @l Sl ©

(A) gRadelid SR W (B) QTS MR TR

(C) (A) e (B) @i (D) T4 | DIy T

Partner’s Current Account is prepared when capital of partner is maintained

under:

(A) Fluctuating Basis (B) Fixed Basis

(©) Both (A) and (B) (D) None of these

22 fR1q &9 aul & A B % 42,000, T 39,000 TAT % 45,000 | T ATHI B &
It & HI W @A BT Jed BT |
(A) 342,000 (B) 384,000
(€) 3 1,26,000 (D) % 36,000

The profit of last three years are X 42,000, X 39,000 and X 45,000 value of

goodwill at two years purchases of the average profit will be:

(A) 2 42,000 (B) 284,000
(©) 2 1,26,000 (D) 236,000
23,1 B ITVET B S B 16
(A) VTSGR BH § YJ9 Hxal © (B) ATIER BT T8 HRAT ©

(C) WIERER &1 9g & 9l 2 (D) 579 4 9

Goodwill is valuated when:

(A) New Partner enters in the firm (B) Partner retires
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(©) Partner dies (D) All of these

24.v% gaarg H fafEfea 4ot %1,50,000; @ 250,000 iR ™= T
& e 20% | JohieRer Ry ¥ @y @ <l gt
(A) 22,00,000 (B) X1,50,000
©) X3,00,000 (D) X1,00,000
Capital employed in a business is X 1,50,000; profit ¥ 50,000 and the normal

rate of profit is 20%. The amount of goodwill as per capitalisation method

will be:

(A) X 2,00,000 (B) X 1,50,000

©) % 3,00,000 (D) % 1,00,000
25. =1 @1 IART Bl ©

(A) EERID AR (B) IATE |

(©) @ | (D) T A DIS T8

Goodwill emerges out of :

(A) Business (B) Product

(©) Owner (D) None of these
26.9AR™ BT 3 a9 30,000, Y a9 2, AT T BT

(A) %15,000 (B) %80,000

(C) 260,000 (D) T A Pl el

Average profit of business is X 30,000, purchase year 2, goodwill will be:

(A) 215,000 (B) 280,000
(©) 260,000 (D) None of these
27.918Ie R |HSId H gRad ¥
(A)  VBERERI & 7 96 98d O 3
(B) R &7 oid & o R

(®) AR B &7 fdges 8 9Iar §
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Revaluation Account is a:

(A)
©)

Personal A/C (B) Real A/C

(D) A B
Change in the partnership agreement
(A) Change the Relationship among the partners
(B) Result in the end of Partnership
(©) Dissolves the Partnership
(D) None of these
28. A —YI&T 3UTCT:
(A) AT 3ATd — YRIAT 34T
(B) YRTAT 3TUTT — T T
© AT 3qATd — AT 3T
(D) YRTAT a1 — =T ITUTd
Gaining Ratio:
(A) New Ratio — Old Ratio
(B) Old Ratio — Sacrificing Ratio
(©) New Ratio — Sacrificing Ratio
(D) Old Ratio — New Ratio
29. Y-S Il &
(A) GRBITT QT (B) qreIidd Gl
(®) AFTHATE Tt (D) STH |9 PIg T8l

Nominal A/C (D) None of these

(A)

(C) R AEIER &I Yol @rd |

30. 911N & gl WR QR fed # gl MY Hed giaNGg Byl

T AR T Y @ § (B) T GRRRT B 4 @

(D) SWRRH T
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At the time of admission of a partner, General Reserve appearing in the old

balance sheet is transferred to:

(A) All Partner’s Capital A/C (B) New Partner’s Capital A/C

(©) Old Partner’s Capital A/C (D) All of the above
31.9cdid TR o™ AT 811 Bl 989 B o

(A) ENRASIEEIN (B) Y WTEIER

(®) Tl AR (D) ddel al ATSER

Profit or loss on revaluation is bear by:

(A) Old Partner (B) New Partner

(@) All Partners (D) Only two Partners

32.A 3R B WEIER © |Caﬁ§ﬂmﬁwﬁaﬁﬁmm%‘lcwﬁﬂmzﬁ

o 21,20,000 O5ft & w9 # @11 B BH & I I ©

(A) X1,00,000 (B) %4,00,000

©) X1,20,000 (D) 26,00,000

A and B are partners. C is admitted with % shares. C brings X1,20,000 as his
share towards capitals. The total net worth of the firm is:

(A) X1,00,000 (B) %4,00,000

©) X1,20,000 (D) %6,00,000

33.f¥ AU AEER 99w W yREUREl | g5 gig @ e W § Sfde fha
SITQTT?

(A) g H eI Tl (B) wafkT @rar
(@ SR RUEEINIEIREINI (D) Y HIEIGR 6T Gl

On the Admission of a new partner, increase in the value of asset is debited
to which account?

(A) Revaluation Account (B) Asset Account
(©) Old Partners Capital Account (D) New Partner Account
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ar
(A) R BH BT faeed R

34.A, B3R C U BH H IEIER € Ife D 97 IEIER & B § T Al &,

(B) RET BH JAT YR ATSIERI BT fqere shm

(C) ORI TSGR G Sd g
(D) ST | DIS T8I

A, B and C are partners in a firm. If D is admitted as a new partner, then

(A) Old firm 1s dissolved

(B) Old firm and old partnership are dissolved

(©) Old partnership is reconstituted
(D) None of these

35,97 dTell WISTER BT ol 3R 1 ATSTHRYT IUI:

(A)  dE@E (B)
(©) RIER B © (D)

Profit and loss sharing ratio of receiving partner:

(A) Increases (B)
(©) Remains Equal (D)
36.92CR & Yol Wi &I wfse fhar Siar 8
(A) Ioll o @t ¥ (B)
©) JTEXT ¥ (D)

The Partner’s Capital Account is credited with:

(A) Interest on capital (B)
(©) Drawings (D)

37. QT AU FebTel SIram 8

(A) TSGR Bl 4o TR

(B) UHh AR & ITHE TS B TR

gedl &
(A) 3R (C) g1

Decreases

Both (A) and (B)

JMENOT R T A
ik RER ]

Interest on drawings

Share in Loss
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(®) TH ARIER & Jd9 W)
(D) STH 9 PIS T8I

Sacrificing ratio is ascertained at the time of :

(A) Death of a partner (B) Retirement of a partner
(©) Admission of a partner (D) None of these
38.%qT$ HuRrdl @ Hod # HH HEa ©
(A) Ty (B) B
© @ (D) =T ¥ BE T

Decrease in the value of fixed asset is known as:

(A) Expense (B) Depreciation
(©) Profit (D) None of these

39.Ud TSGR Pl JqBIe T hRel & Ay, 9l ARt & forg fhy 17 %4
DI GG<h Sitae G491 UifeRl & [a%g B4 Bl M1 BUH § AT Bidl &
(A) Oiferell IR 3T (B) FHUA el
(©) EUEKIIE (D)  Suf® wfl

At the time of retirement of a partner, firm gets from the insurance company
against Joint Life Policy taken jointly for all the partners:

(A) Policy Amount+ Bonus Amount (B) Surrender Value

(C) Policy Amount (D) All of the above

40,91 IHI TEUT HRA ATl ARIQR DI AP T80T TR TR IHDI ¢ R0
BT YUl YA Te1 (AT ST 2 dl AY SWAART fbar S e
(A) FoT @Td H (B) PEIRCIGE
(@ d% @ H (D) SERRCINIE]

If retiring partner 1s not paid in full amount due to his retirement then
balance is transferred to:
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(A) Loan A/C (B) Capital A/C

(©) Bank A/C (D) Suspense A/C
41. %9 gRT UT g 4197 Giferdt &1 iy §f e I
(A) IR Yoil rgura | (B) 3ifcd gSi erurd H

(©) R SATH— TS Jurd | (D) T Ar—fIqIST 3rgura |

Joint Life Policy amount received by a firm is distributed in:
(A) Opening Capital Ratio (B) Closing Capital Ratio
(©) Old Profit sharing Ratio (D) New Profit sharing Ration

42 fHdT AEER &1 Jg R AURET & YAHedIH & o™ Bl [hdd Yol
ST H S AT S 87
(A) qdd AEER B (B) T AEERI &
(®) DT ARIGRI & (D) qTAT & ATEERI &

On the death of a partner the profit on revaluation is transferred to capital

A/C of:

(A) Deceased partner (B) All partners
(©) Remaining partners (D) Only two partners
43,90 HEIER & HEd Bl AEER o 9g & [ 9 < IR R 25
[ERISI
(A) 5% arfie (B) 6% darfie®
(©) 7% arfi® (D) 8% arf¥®

The executor of deceased partner will be paid interest on the amount due

from the date of death of the partner at:

(A) 5% p.a (B) 6% p.a
(©) 7% p.a (D) 8% p.a

44 9f THOH & I ARl & dag | B3 {9 g 7 @ T8 8 oar
(A) GUGIEES ST (B) qUT T BT
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©) SINEEC ORISR (D) = 9 PS8

If at the time of dissolution nothing is said about assets, then

(A) Never paid (B) Fully paid

(©) Partly paid (D) None of these
45371 g &1 A9 BH & FHIUA & FHI e S

(A) el @ A (B) RS @K H

(@ goil @rd H (D) qeHedih AT 4

Cash balance in a balance sheet is shown on dissolution of a firm in:

(A) Realisation A/C (B) Cash A/C

(©) Capital A/C (D) Revaluation A/C
46.%4 ® THIOT WR B ATl Y DI P ©

(A) Tgelt = (B) Tt =

(C) T Fa (D) YoirTa =g

Expenses on dissolution of firm is called:

(A) Realisation Expense (B) Legal Expense

(@) Revenue Expense (D) Capital Expenditure
47. %9 & fdoed & FHY ARIaR] & Yol Wrdl &1 HiSe AV BT YIrdE b

ST &

(A) ATSERI BT (B) B Bl

©  u=h D) =T 9 T

Payment of credit balance of Partner’s Capital Account at the time of

dissolution of a firm is made to :

(A) Partners (B) Firm
(©) Wife (D) None of these
48 TSIGRI BT faarferar 81 {6 UdR &1 AT &7
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(A) Jfard AATaH (B) AR FHIA
(©) RITT §RT FHTI (D) STH 9 BIg T8I

Insolvency of a partner is which type of dissolution?

(A) Compulsory dissolution (B) Dissolution by incidence
(©) Dissolution by court (D) None of these
49. 99l & A BN BT ALIGRI H dleT STl &
(A) RIER urd 4 (B) ol 3rgurd |
(@ AT—BI 3rguTd ¥ (D) 374 W PIs Aol

The profit and loss of realisation account is shared by partners in:

(A) Equal profit ratio (B) In capital ratio

(©) Proft and loss ratio (D) None of these
50.9eh @l @

(A) CHEREGIRCIR (B) BIECIERCIRI]

(C) CIESICCARCIIS] (D) SEIGREIR]

Realisation Account is a:

(A) Personal A/C (B) Nominal A/C
(©) Real A/C (D) Suspense A/C
51. 9 BT ISR &
(A) NESIEES] (B) AR US 99
(C) TTeT Hied (D) faeell fawafdered

Example of a company is:

(A) Rahul Brothers (B) Bharat & Sons

(©) Tata Motors (D) Delhi University
52,375 & PR R GF BT RaReT S R S 82

(A) PIEER] (B) CILEECRIB DL
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(C) PR IRE R (D) ERRIRSIRSL
Which statement is issued before the issue of shares?

(A) Prospectus (B) Article of Association
(©) Memorandum of Association (D) All of these

53. @R 3fer 7 & R
(A) BUAT & Il B I@! WAl & geol AT far ST '
(B) BT B IAH SRS T g fhar Sirar &
(®) BUAT & Faddl B IAD! AT b I8l RIAT fhar Sar @
(D) AUt @Ned & forg fasareii &1 frffaa frar smar

Right shares are those shares which are :

(A) issued to the director of the company

(B) issued to the existing shareholders of the company
(©) issued to promoters in consideration of their services
(D) issued to the vendors for purchasing assets

54U ds HY-I 31 e BT T 9L B Gl B
(A) Pkl W) (B) AT W)
(©) T W (D)  sifd qou W

A new company cannot issue its shares at :

(A) Discount (B) Premium

(©) Par (D) Face value
55.321 & B & URUMH W9 U< SRl §

(A)  gFar ol (B)  aferpd Yol

©) ARIEASEIN] (D) KINEERCR]

Forfeiture of shares result in the reduction of ;
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(A) Paid-Up Capital (B) Authorised Capital
(©) Fixed Asset (D) Reserve Capital

56.31e< T R JAfOrpdd a1l fora o1 gohdT &
(A) 6% ufaay (B) 10% wfcras
(C) 5% wfcay (D) 12% wfcay

Interest an calls-in-arrear can be charged maximum at:

(A) 6% p.a (B) 10% p.a

(©) 5% p.a (D) 12%p.a
57.9% ol ol #§ Aol BT 3ifSrddd v gl &

(A) 7 (B) 200

© 50 (D) ®lg AT L

Maximum number of members in a private company is:

(A) 7 (B) 200

©) 50 (D) No limit
58.3791 & R R STfe™ &1 IUART fHar S FadT ©:

(A) qreRT 39l & A @ forg (B) M @ AR & forg

(C) FOT gHH & folg (D) S79 | PIg &l
Premium on issue of shares can be used for:

(A) Issue of bonus shares (B) Distribution of profit
(©) Payment of loan (D) None of these

59.3f¢ X 10 grerm fer o/ iR X 8 Iiferd 2 iR 6 &< &, Sied dh forar S
g, o 3 Yol @rar &1 Sfae far s =nfzu:
(A) B9 (B) 10 9
(©) 69 (D) 2 9
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If a share of X 10 on which X 8 has been called and X 6 is paid, forfeited, then
the share capital account should be debited with:

(A) 38 (B) %10
(C) 36 (D) 32

60. MR HUT A, 2013 B AJAR BUAT BT A AT IR S ©
(A) a1 AT 11 (B) ST 111 91T |
(C) AT VI AT ] (D) AT VI AT |

According to the Indian Companies Act, 2013 Balance sheet of a company is

prepared as per:

(A) Part- II of Schedule II1 (B) Part- I of Schedule III

(©) Part- II of Schedule VI (D) Part- I of Schedule VI
61.99d1 & R, R[AqH ST 3 & e & Ugel a3 &1 fhamn

TfcRId sraey BT =MfRy?

(A) 100 % (B) 90%

© 25% (D) 50%

According to the SEBI, minimum subscription must be at least how much

percent of shares issed before allotment of shares:

(A) 100 % (B) 90%
©
(D) 25% (E) 50%
62.3791 &1 H fhan S |ahdr &
(A) T W B) o W
(C) Jc W (D) SRIE T4
Shares may be issued at
(A) Par value (B) Premium
(©) A discount (D) All of the above

63.7%0T U=t & 9 o) w1 81y &l ey Siar &
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(A) gferifa MAaH Faa9 | o)
(B) fag @ Jufy ger ®
(@ AM—BI @ & wise H

(D) el @ |

Discount or loss on issue of debentures is shown as/in:

(A) After deduction from Securities Premium Reserve
(B) Asset side of Balance sheet

(©) Cr.side of P& L A/C

(D) Realisation A/C
64 . FITIALRT UTed BN ©

(A) SISIN (B)
© BN (D)
Debenture holder gets:

(A) Dividend (B)
(C) Interest (D)

65. U1 & foTU 31fed R oyl T i &

(A) SIDHERIE (B)
©) FEINCACIC (D)
Premium on issue of debenture for a company is a:
(A) Revenue Receipt (B)
(©) Capital Gain (D)
66. 0T &1 fIRar &
(A) PR @ (B)
(O) NS (D)

Characteristic(s) of debenture is/are:

Profit

Bonus

Hufy

Profit
Asset

HEEIRIE]
EREISISC]
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(A) Fixed interest (B) Long term

(©) Redemption (D) All of these

67. 7019 ST fh 719 gga PR o7 W FWART 8 O &, bg 9 o
(A) Goitehd R OIS (B) g SRUTIH
(©) ATED FOTIH (D) g A PIg e

Debentures which are transferred by merely delivery is called:

(A) Registered Debenture (B) First Debenture
(©) Bearer Debenture (D) None of these

68.R5T9 U & gRSI BT I§ AHR BT © & 9 o8 a1 & Fed a9
@ 918 I FuvEl #1 FeiRa waf & gaR &iwl # uRafda &= wad €,
U 0SB BEd B
(A) I FEUTIA (B) 3reNed FoTgS
(C) R FoI (D) qIEH FUTIA

The holder of debenture who have the right to convert their debentures into
shares after a specific period as per the terms at their option, such as

debentures are called : -

(A) Redeemable Debentures (B) Irredeemable Debentures

(©) Convertible Debentures (D) Bearer Debentures
69. 7 0TA! @ T BT SR B ©

(A) 5 uRaSTRT # fder (B) NEERCARERAR]

(@ TDHIHRIT (D) ERL RSk

The objective(s) of issue of debentures is/are:

(A) Investment in a new project (B) Purchase of machinery
(©) Integration (D) All of these

70.%d & FOUAT & € B W BIF T A ©
(A) T ™ (B) FSRGRSIE]
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©) NEIGRRSIL] (D) MRS ™

Profit on cancellation of own debenture is:

(A) Revenue profit (B) Capital profit

(©) Operating profit (D) Trading profit
712099 By fAFRRT @ @

(A) 3T (B) ad

©) Haf (D) EURES!

Sinking Fund Investment A/C is an:

(A) Income (B) Expenditure
© Asset (D) Liability

72.U% HUHT TP 2100 dreT 1000, 12% ZFora= d 10% Wiy o e

foar | g9 12% a1 <erar &7
(A) AT BT X (B) TR P
(®) ol B R (D) STH |9 PIg T8l

A company issued 1,000 12% debenture of X 100 each at 10% premium.
What does 12% show in it?

(A) Rate of dividend (B) Rate of tax

(©) Rate of interest (D) None of these
73 F0T0A B ARE W AW B BT @ H gaiad fear S g ?

(A) CSIRECRCI]) (B) fafdTT we @rar

(©) A G ] (D) SIESIERCIG])

Profit on redemption of debenture is transferred to which account?

(A) Capital Reserve A/C (B) Sinking Fund A/C
(©) General Reserve A/C (D) Profit & Loss A/C
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74.BU T, 2014 & ATAR WEH & YOI FOIAT Bl AT BT fbar afcrerd
H FO—UAT T I BT AT HAT ERIT?
(A) 50% (B) 25%
(C) 70% (D) 100%

According to company Rule, 2014 by which precent a company will have to

create Debenture Redemption Reserve of the amount of the debenture to be

redeemed?

(A 50% B)  25%

©)  70% D)  100%
75 F0T9= B WM 2 O &1 A 7

(A) ot (B) sl

(@ A RO A & A W U IR (D) SR 9 9

Source(s) of finance for the redemption of debentures is/are:

(A) Profit (B) Capital

(©) Amount received from the issue of fresh debenture (D) All of these
76.FTEROITAT HUH BT A Afcrdat Teb1Ria fhar Sirm 8

(A)  fodi o & e e (B)  facia o & aiferw ot

©) AGeT ay & qRT B W (D) IWRD 4T

Generally Annual Report of a company is published:

(A) At first day of financial year
(B) On the last day of financial year
(©) On the completion of accounting year
(D) All of the above
77 .31 HaRT H BIF A TS Brar 87
(A) Uce (B) fafrarT
©) DY (D) ENIE]
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Which item is included in current asset?

(A) Patent (B) Investment

(©) Stock (D) Machinery
78.fa<fr faaRor welRid &vd ©

(A) Aifgd g (B) IEICEG CE

(®) SHIfed LT (D) STH 9 9

Finance statement disclose(s):

(A) Monetary Information (B) Qualitative information
(©) Non-monetary information (D) All of these
799 e b1 3N gt # fha wue & e @ S 8?
(A) fafder =9 (B) 3rer 4ol
(C) BELRCRIBE) (D) R—are] Hufxy

Under which heading of Balance sheet General Reserve is shown:

(A) Miscellaneous Expenditure (B) Share Capital

(©) Reserve & Surplus (D) Non-current asset
80.98 Fad o frdl iy Seea & 99T Sfar © °fR S o & fasg uwR

Il 8, Pl &

(A) PSIRSED] (B) AT G
(C) T e (D) faftre =g

The reserve which is created for a particular purpose and which is a charge

against revenue is called:

(A) Capital Reserve (B) General Reserve
(©) Secret Reserve (D) Specific Reserve
81. U AR & fla FefoRad § 9 $IF TR ST Afard T8l &7
(A) e R B)  Refy—faxor
(®) fdperdt B Rurd (D) PIY yarg faaror
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Which of the following is not required to be prepared under the Companies

Act?

(A)  Statement of profitand loss  (B) Balance sheet

(C)  Auditor’s Report (D) Fund Flow statement
82.31Yf® forear v &1 fa<ia Rerfa &1 §a= wRgd = &

(A) U U s w (B) faery srafyy & <RM

©) TP 3mEf % fore (D) T dw

Balance sheet provides information about the financial position of the firm:

(A) At a particular period of time (B) During special period

(©) For a period of time (D) All of these
83.A-fIewg fig 99 g @1 ®ed & orEh:

(A) Bl AN FHol [Aep! F 31fdE &

(B) ol AN Gt 90! A HH &

(®) ol AN et fdeo! F M &

(D) B AN fel bl & aRIR &

Break-even-point refers to that point where:

(A) Total cost are more than the total sales
(B) Total cost are less than the total sales
(©) Total cost are half of the total sales
(D) Total cost are equal to total sales

84.fa< faa~oll & fdem H wfie @
(A) AT Ua fagetyor (B) I UG TR S1edd
(® frepy fdTerT (D) 3 |
Interpretation of financial statement includes:
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(A) Criticism and analysis (B) Comparison and trend study

(©) Drawing conclusion (D)  All of these
85.3ma faaqror @ gertar 87
(A) Grd & GID] DI Y& (B) v fAf¥ad srafer &r
AT d1erar B
(C) NESIEEICAIES (D) STH | Py gl

What is shown by the Income statement?

(A) Accuracy of books of (B) Profit and loss for a
accounts certain period
(©) Balance of cash book (D) None of these
86.fa<ira fqeron & fawetyor # enfiet BIT &
(A) HUTRE @ (B) AM—BI faaRor
(® e fereet (D) SRIH T4

Analysis of financial statement involves:

(A) Trading A/C (B) Profit and loss statement
(©) Balance Sheet (D) All of the above

87.8fas fageryor SIHT ST
(A) TTferefier faweryor (B) ARAATHS fageryor
(C) Wiy faveryor (D) T 3 Pl Tl

Horizontal analysis is also known as:

(A) Dynamic Analysis (B) Structural Analysis

(©) Static Analysis (D) None of there
88.7% LN gRT faxily f4arvl &1 fawelvor &1 IR &

(A) EISRCEEL RG] (B) rfaRe fagelyor &

(@ digaq faweryor & (D) afast faweryor &1

Page 26 of 36



The analysis of financial statement by a shareholder is an example of :

(A) External Analysis (B) Internal Analysis
(©) Vertical Analysis (D) Horizontal Analysis
89.3f¢ T BH B gl FuRrdl 210, 00,000 B AR IR =T FuRTdt
%6, 00,000 B AT =Te], WURRIT g FURRT &1 fha=r ufcrera grm?
(A) 60% (B) 50%
© 40% (D) 80%

If total asset of a firm are 310,00,000 and its non-current assets are 2
6,00,000, what will be the percentage of non-current assets to the total
assets?

(A) 60% (B) 50%
)  40% (D)  80%
90. g A o=l faweryor ufshar fbw fdaror & #&l & = Jarm &l

TN B2

(A) amfie fergt (B) -z faaror
(©) (A) o (B) <l (D) STH | Py gl

Comparative financial analysis process shows the comparison between the

items of which statement?

(A) Balance sheet (B) Profit and Loss statement
(©) Both (A) and (B) (D) None of these
91 . wrfefrer goft &

(A) e TAT & Y

(B) =T, WUl vd =re], <1l H 3faR
(C) 9% ¥ ol g YR

(D) oTe], AUl U ey WURRl ¥ 3iaR
Working capital is the:
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(A)

Cash and bank balance

(B) Difference between current assets and current liabilities

(©) Capital borrowed from bank

(D) Difterence between current asset and fixed assets
92.f # & ®F IR FAlE I 2°

(A) fap=ma (B) [EEARCIE]

(C) ENER) (D) EIERECI R CE AN S C

Which of the following is non-operating expense?

(A) Rent (B) Selling expense

(©) Wages (D) Loss on sale of machinery
93 . ATIGRIGT AU DI AHRIT: <h fhal ST o

(A) AR 3T H (B) gfererd #

€  TTH (D) T A B TG

Profitability ratios are generally expressed in :

(A) Simple Ratio (B) Percentage

(©) Times (D) None of these
94 %S |uferal # enfier g @

(A) e (B) UKIRR

(©) AR (D) qded @

The term fixed asset includes:

(A) Cash (B) Machinery

(©) Debtors (D) Prepaid expense
95.F=1 H I DI olF—ad @] AU H FoIR ATGIT?

(A) AT BT Adha Hd (B) TED A Adhe U

(C) SECNCAIGURIE (D) AT B YR Y
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Which of the following transaction will improve the current ratio?

(A) Purchase of goods for Cash
(B) Cash received from customer
(©) Payment of creditor

(D) Credit purchase of goods

96.3Cl@ AT AU & IFTd 3T §

(A) SESEIRCEEIN (B) SICCRERIRCEEIN

(®) e Surd (D) STH |9 PIg T8l

Stock turnover ratio comes under:

(A) Liquidity ratio (B) Profitability ratio
(©) Performance ratio (D) None of these

97 s FaTE fIaRor =1 8
(A) SIEEIR] (B) PNENIREEY

(®) O M & ofaifa difsd (D) g9 A BIg 8
Preparation of Cash Flow Statement is:

(A) Compulsory (B) Recommendatory
(©) Required under the Companies Act (D)  None of these
98 Jhs YaTe farvr Hefda ©

(A) T . TH.—3 (B) T. TH.—6
(®) 7. 9.9 (D) T. TH.—12

Cash Flow Statement is related to:

(A)  AS.-3 (B)  AS-6
(C)  AS.9 (D)  AS.I2
99. BHETRAT B Tha YT W Abs JdTE o
(A) e fepamat (B) IBCHIERERICI
(® IEIRRERICI (D) SR qHI
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Cash payment to employees is a cash flow from:

(A) Operating Activities (B) Investing Activities

(©) Financing Activities (D) All of the above
100. wic vd 7RI & %I & Ufdmd H @i &1 7 8

(A) JAde & Adqaig (B) AP BT gigdis

(C) 9 dr (A) 3R 7 (B) (D) SENGRCE]

Issue of shares in consideration of purchase of plant and machinery result

into

(A) Inflow of Cash (B) Out flow of Cash

(©) Neither (A) or nor (B) (D) All of the above

¥Yvs—d / SECTION-B
oY SN Ug9/ Short Answer Type Questions

TS W& 1 9§ 30 O% ol SN & | 3 9 fBl 15 el & SN

3| IS T @ forg 2 of fFEiRa B 15x2 =30

Question Nos. 1 to 30 are Short Answer Type. Answer any 15 questions.

Each question carries 2 marks. 15x2 =30

1. 9T @1 8 ? 2
What is legacy?

2. JAAHRT FRIRA & IR I&eR0T § | 2
Give four example of not-for-profit organisation.

3. 18 Yol iR gRad-eie ol # far & | 2

Distinguish between fixed capital and fluctuating capital.
4. I B AN Gl & Bisce Uel # ford oH arel fgi e Agl

BT ford | 2
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Write any three items written in credit side of profit and loss

appropriation account.

5. IferemT T 7§ ? 2
What is super profit?
6. WA HH B Yo" | a7 3R &7 2

What is meant by reconstitution of partnership firm?

7. N B diel ATEIER I T 3T 872 2

What is meant by sacrificing partner ?
8. e BN | 3Ty &aT HHed 57 2

What do you understand by accumulated loss?

9. AHT Heg RIT & ? 2

What is general reserve?

10. -3 SIUIT BT ITOET T DI STl 2 2 2
Why gaining ratio is calculated?
11.94910d qea & © 2 2

What is surrender value?

12.936R & 9g & §9Y fqemm @fd & fau @ar Jo=mear afafe
&I ST ? 2

What journal entry will be recorded for the available goodwill on the

death of a partner?
13. 9181 & FHUS 3R BH & 9999 § 3} 9ar | 2

Distinguish between dissolution of partnership and dissolution of firm.

14,99 @11 999 & QT I3 9 | 2

State two objectives of the preparation of Realisation Account.

15. 3fe & fafr= geR ar | 2
State the different types of shares.
163791 &7 g et ar 22 2

What is re-issue of shares?
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17. %90 & iy IR fIevdr qari |

State any four characteristics of a company.
18,3712 FEOUS a1 27

What is irredeemable debenture?
19.a78% OIS w7 &7

What is bearer debenture?

20. 799 BT URIAT gRT LA BT FIT 3T 87

What is meant by Redemption of debenture by conversion?

21.f<Mg faa=ol & IR a9 & A9 9d™ |
Name four element of financial statement.

22. 9 BT+ faa=or war 27

What is the statement of profit and loss?

23,90 fegrae &9 fa<ig faero & faveyor & veh JHr 87

2

How is window dressing a limitation of financial statement analysis?

24 TSR ITad IrgUTd a1 &7
What is debtor turnover ratio?
25.9f 3feT 3T T &7
What is earning per share?
26391 3T FT BT B°
What is proprietary ratio?
27.3H Il & IR IIMERT < |

Give four example of Revenue Receipt.
28781 AT BT 9T 372 77
What is the meaning of rat goodwill?

29 . YT AT | T FASK &7
What do you understand by proposed dividend?

30.XThs Udig dhd 3T~ BIdl 4

When does a cash flow arise?

2
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<" S ue / Long Answer Type Questions

ToT &7 31 W 38 JE ST F97 &/ §7H W 6] 4 ¥ & GOV T/
g% 97 & o7 5 3w iR 8/ 4x5=20

Question Nos. 31 to 38 are Long Answer Type. Answer any 4 questions.

Each question carries 5 marks. 4x5=20

311 T 87 A1 Bl T B [ fafert @1 qoie Y | 5
What is goodwill? Explain the different methods of calculating goodwill.

32.%4 & fdocd A 91 AR 87 BH & [duc & A9 DI ST drell
nfafeat feari | 5
What do you mean by Dissolution of firm? Show the journal entries made

at the time of dissolution of a firm.

3330103 BT T AR 27 RIS Bl & fauyan 9 | 5

What is the meaning of debenture? State main features of debenture.
34.f4<ig f4aRor | T MY ©7 gD HAATAT BT o D | 5

What is meant by financial statement? Explain its limitations.

35.79 IRl 9 T W S Sd difog iR gt (Rerfar faavon)

IIER 4l faEmgy | 5
X

(i) ¥ & IRE U T 20,000

(il) URM® ghraT e 4,000

(iii) 3ifcs geprT =T 8,000

(iv) uRM® 31 e =iar 6,000

(v) sifaw aifis g =< 4,000

Find out income from subscription and also show the treatment in

Balance sheet:
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(1)  Subscription received during the year: 20,000
(1))  Subscription outstanding (Opening) 4,000
(111)  Subscription outstanding (Closing) 8,000
(iv)  Subscription received in Advance (Opening) 6,000
(v)  Subscription received in Advance (Closing) 4,000
36. Z fafics <1 =g gRT eiRa %10 arel goia: arfra 400 sfer &1, [

%2 ufa ofer ifdren w feifia far ar e, &vor foam | gem<g 1 X3
IS WR Y | 98 Aded WR 5 ( ifegea |fza), 2.5 vorF ara R
3R 1.5 S AT OR YIrar el BR HhT | § A bl A b Bl
9 wfcr ofer # g fifa fasam | ofelf & &1 wd g e & forg
ISR gfaftedt < | 5
Z Ltd. Forfeited 400 shares of Z 10 each fully called up, held by Prashant,

issued at a premium of X 2 per share. Prashant Paid X 3 on application. He
could not pay X 5 (including premium) on allotment, X 2.5 on first call
and X 1.5 final call. These shares were re-issued to Shri Mukesh for X 9

per shares. Given the journal entries for forfeiture and re-issue of shares.

37.Fr=fetRad ammell W @I U @1 ITOET B | 5
X
(i)  <eforel o 2,00,000
(i) SePrei= ST 1,00,000
(iii) =re TR 50,000
(iv) orae gREufrl 3,60,00
(v) e TRt 90,000

From the following informations compute Proprietary Ratio:
X
(1) Long-term borrowing 2,00,000
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(i1) Long-term provision 1,00,000

(ii1)) Current Liabilities 50,000
(iv) Non-current Assets 3,60,000
(v) Current Assets 90,000
38.Rearfd fqervr W=y Frferiad Sexon 4 =i fhamell 3 dbs yars = &3 5
Rerfe—faavor
(31-12-2022 T BT IEX)
SENIIRCICERIY A A SEIREI A IHH
(2021) (2022) (2021) (2022)
% % % R
AT SR oh 2,00,000 3,00,000 FOTAAT TR 8,000 15,000
E

8% TAEER 3T | 100,000 50,000

6%0 FUTI 80,000 1,50,000

R SRIN 3,000
10,000 ’

arferge S

(M) E

(i) a3 B 2022 @ 3id 10 Y% fEed (ifHgH) @R i fear wan
(i) oA B 9¥ & IR H 10 % FHeri W e far |
(ili) YAMEeR 3 R 8 % &1 <X A M f&ar T |

(iv) FomEl R @t fear w2

From the following extract of Balance sheet, Find out cash flow from

financing activities
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(Extract as on 31-12-2022)

Balance Sheet

Equity & Amount Amount Assets Amount Amount

Liabilities | (2021) | (2022) (2021) (2022)

% % % %

Equity Share |2,00,000 | 3,00,000 Discount on 8,000 15,000
Capital Debentures
8% Preference

Share 1,00,000 | 50,000 Underwriting

commission |

6% Debenture | 80,000 | 1,50,000 on shares >000
Securities 10,000

Premium -

Additional information:

(i) Equity shares were issued at the end of 2022 at 10% premium.

(ii)

the year.

(iii) Preference shares were paid dividend @ 8%.

(iv)

Interest on debentures is paid.

Debentures were issued at 10% discount in the beginning of
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